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QUESTION 1

When using distributed VSN configuration, how many advanced users can an entire Avaya IXTM Messaging solution
support? 

A. 4,800 advanced users 

B. 20,000 advanced users 

C. 60,000 advanced users 

D. 80,000 advanced users 

Correct Answer: D 

 

QUESTION 2

In Avaya IX"TMMessaging High Availability installations, on which servers are TLS configurations to be applied to
secure the communication with the PBX(s)? 

A. Primary server only 

B. Primary server and all Secondary servers 

C. Primary server and Consolidated server 

D. Consolidated server only 

Correct Answer: B 

 

QUESTION 3

Which two prerequisites and considerations must be met prior installing Avaya IXTM Messaging? (Choose two.) 

A. Antivirus software must be installed and operating according to specifications. 

B. The corporate telephone system and PBX must be installed and functioning properly. 

C. The server must have the operating system installed, patched and completely updated. 

D. Create all accounts on the server locally, and it doesn\\'t need to have any domain accounts provisioned. 

Correct Answer: AD 

 

QUESTION 4

The number of Content Sync Engine (CSE) Servers required depends upon the number of advanced users that will be
working on the system. What kind of server is required for 2,500 Advanced users, in a High Availability solution? 
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A. CSE Running on CS 

B. CSE Running on Backup Server 

C. CSE Running on Voice Server 

D. A dedicated CSE Server 

Correct Answer: D 

 

QUESTION 5

Which three requirements must be met for an Avaya IXTM Messaging High Availability installation? (Choose three.) 

A. Maximum round-trip latency between the voice servers and the PBX must not exceed 200 milliseconds. Optimal
round-trip latency is less than 150 milliseconds. 

B. All servers must be part of the same Windows domain. 

C. All servers must have a minimum 1 Gb/s connection to the network. 

D. Maximum round-trip latency between the voice servers and the consolidated servers must not be more than 50
milliseconds. 

E. The path of connectivity must have 2 Mb/s guaranteed bandwidth with no steady-state congestion. 

Correct Answer: BCE 
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